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YnpasneHua aAenamu Mpe3unpeHrta PO
TPEHAKEPHBIH 3471
3ansTue B TpeHaxepHom 3aie (1 gac), B .u. HC 20% 700,00
AbGonemMeHT Ha 1 mecs (3aHsTHe B TpeHaxkepHoM 3aine), B T.4. HJIC 20% 4 500,00
AbGoneMeHT Ha 3 MmecsiIa (3aHaTHe B TpeHaxepHoM 3aine), B T.4. HJIC 20% 10 000,00
AGoHeMeHT Ha 6 MecsIeB (3aHsATHE B TpeHakepHOM 3aie), B T.4. HJC 20% 18 000,00
AbGonemeHT Ha 1 roz (3aHsTue B TpeHaxkepHoM 3aie), B T.4. HJIC 20% 30 000,00
3ansTHe B TpeHaXKepHOM 3aie + 6acceiin (1 mocemenue), B T.4. HIC 20% 1 000,00
AOGoHeMeHT Ha 1 mecsI] (3aHITHE B TPSHAKEPHOM 3ajie + Oacceiin), 600000
B T.4. HJIC 20% ,
AOoHeMeHT Ha 3 MecsiIa (3aHsATHE B TPEHAKEPHOM 3aJie + 0accein), 13 000.00
B T.4. HIC 20% ’
AOOHEMEHT Ha 6 MecsIIeB (3aHATHE B TPEHAXXEPHOM 3aiie + 0acceliH), 99 000.00
B T.4. HJIC 20% ’
AbGoHeMeHT Ha 1 roz (3aHsTHE B TPEHAXKEPHOM 3aie + OacceiiH),
B 1.4. HJIC 20% 36 000,00
3aHsATHE B TPEHAXKEPHOM 3aie + 0acceiin + cayHa (1 mocemienue), 1 400.00
B T.4. HIC 20% '
AOonemeHT Ha | MecsI] (3aHsATHE B TPEHAKEPHOM 3alie + 0acceiiH + cayHa), B 7000.00
.9, HIIC 20% '
AbGoHeMeHT Ha 3 Mecsla (3aHsATHE B TpEHaXKEPHOM 3aiie + 6acceiiH + cayHa), B 15 000.00
1.4. HIIC 20% ’
AOGoHeMeHT Ha 6 MecsIIeB (3aHATHE B TPEHAKEPHOM 3ajie + OacceifH + cayHa), B 95 000.00
1.4. HIIC 20% ’
+ iH +
AOGoneMeHT Ha 1 Tof (3aHATHE B TPEHAXEPHOM 3ae + OacceiiH + cayHa), 40 000,00

B T.u. HIC 20%




